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m & m & E&-W & |WES|l & B |#EIAH 47 m B m % E&-W & |WES| B B |#IAH 4
TH-220S | PBT®& i R 310| 310 | 500 | — U-35W | /MNgkE 3 AOl 1,380 60 | 80 | —
2% H U 310/ 310 GHES=! HKM|1,380| 60
PBT#VZ& 28 KTA| 860| 310 | 500 | — o= HNE|1,380| 60
2/% KTK| 860 | 310 = KNA| 1,380 | 60
B/ KTM| 860 310 SALC4IO— |LMY|1,060| 60 | 110
2/% KTS| 860 310 xar#iLry | MO |1,060| 60
TH-220X | PBT& 2 BK | 380| 310 | 500 | — 3 T |1,060| 60
i R 380 | 310 SHDENERS | UMI|1,380| 60 | 80
PBTZWZE E2RE KUK| 1,160 | 310 | 500 | — BRI YSE [ 1,380 | 60
ER%K KUS| 1,160 | 310 U-40 ANk TAKRY — IV |1,380| 59 | 120 | —
N—Ya1RE VUK| 1,160 | 310 SALLIO— |LMY|1,380| 59
N=T 1%k VUS| 1,160 | 310 *xar#Lry | MO [1,380| 59
TMB-10 | L/ 8k VD HNN| 1,100 | 77 | 160 | — 3 T |1,380| 59
NT 2T VGT|1,100| 77 U-1W | BNk E Pt AE [1,430| 59 | 60 |—
TMB-11 | fu/hskE vED HNN| 910| 77 | 180 | — T IN— AN [1,110| 59 | 110
N ETI VGT| 910| 77 3 AOl [ 1,430| 59 | 60
TMB-20 | /s sk [03:40)) HNN|1,110| 77 | 150 | — RIER HKM| 1,430| 59
RNIZTW VGT|1,110| 77 o= HNE|1,430| 59
TMB-21 | B/ k3 VD HNN| 930| 77 | 135 | — TARY — IV |1,110| 59 | 110
NT2TI VGT| 930| 77 = KNA|1,430| 59 | 60
SALC4IO— |LMY|1,110| 59 | 110
Xxar#L>y | MO |[1,110| 59
U =P T IN— AN [1,040| 76 | 120 | — e T |1,110] 59
TI— B |1,040| 76 SHDENELL | UMI[1,430| 59 | 60
uU-3 gk T IN— AN |1,040| 76 | 150 | — BEAR YSE [1,430| 59
- B |1,040| 76 U-60 ithe ES SYu|[1,280| 52 | 120 | —
u-4 INgk TLIN— AN | 1,170| 76 | 110 |— e T |1,280| 52
- B | 1170| 76 U-61 HE ES SYU| 870| 52 | 150 | —
u-5 YS5K=-n | 7rnN— AN [1,340| 76 | 140 | — e T 870| 52
TI— B [1,340| 76 U-62 it ES SYU|1,500| 52 | 150 | —
uU-22 A=THhy7 | FAR)— IV [1,600| 54 | 60 |— 3 T [1,500| 52
*xOr#L>y | MO |[1,600| 54 U-63 thiE ES SYU| 900| 52 | 140 | —
e T |1,600| 54 e T 900| 52
U-30 gk TAR)— IV |1,270| 61 | 130 | — U-70 FV—F= | TR — IV |1,850| 58 | 110 | —
SALfIO— |LMY|1,270| 61 xOr#L>y | MO |[1,850| 58
XxOr#Lry | MO | 1,270 61 e T |1,850| 58
e T |1,270| 61 U71W | ZU=F=IE | 7218 — AN [1,400| 58 | 110 | —
U-31W | /INEE Pt AE [1,270| 61 | 120 | — FAI— DIY | 1,720 | 58
T IN— AN | 950 | 61 o= HNE|1,720| 58
E2 AOI'| 1,270 | 61 = KNA|[1,720 | 58
RIER HKM| 1,270 | 61 XxOr#L>y | MO [1,400| 58
5 HNE| 1,270 | 61 2Ty F STC|1,720| 58
TAR)— IV | 9505461 | 90 3 T |1,400| 58
&= KNA|1,270| 61 | 120 SHDENERS | UMI|1,720| 58
SALC4IO— |LMY| 950| 61 | 90 U-84 AR5 Piy AE |2,050| 53 | 60 |—
*Or#Lry | MO | 950 | 5461 sy HNE|2,050| 53
e T 950 | 54+61 gRmX NNT|2,050| 53
SHDEMELS |UMI| 1,270 61 | 120 U-85 R Py AE |1,650| 53 | 60 |—
BEAR YSE|[1,270| 61 = HNE| 1,650| 53
u-34 NS TARY — IV [1,430| 60 | 110 |— ELISEN NNT|1,650| 53
*xOr#L>y | MO | 1,430| 60 U-88 I Piy AE |2250| 53 | 60 |—
SALC4IO— |LMY|1,430| 60 =1 HNE|2,250| 53
b T |1,430| 60 ELISEN NNT|2,250| 53
U-35W | /IkE it AE [1,380| 60 | 80 |— U-89 RbiE e AE |1,800| 53 | 60 |—
T IN— AN [1,060| 60 5 HNE| 1,800| 53
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